4 3
THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION 20 REVISIONS
@ COPYRIGHT 20 BY - AL RIGHTS RESERVED. P LTR DESCRIPTION DATE DWN APVD
B1 | ECR-16-011988 26AUG20%6 | YC (W
5 | C FCR-18-016778 NOV2018 | GY | Cw
| | -— (1 | ECR-18-017123 2DEC2078 |KW  |CW
Y o
m&% B ECR-21-106515 02JUL2021 | SQ |CW
Sy
& «
NOTES:
| . TECHNICAL CHARACTERISTICS:
TYPE |,T2040062101-000,WITH LOGO INSULATJON MATERIAL: PC
#4 |, T2040062101-000,#L0GO RATED VOLTAGE: 000V
RATED CURRENT: [|6A
INSULATION RESISTANCE: >=400M()
M4 SCREW,RECOMMENDED 6X M3 SCREW,RECOMMENDED RATED IMPULSE VOLTAGE: 6KV
TIGHTENING TORQUE I .2Nm TIGHTENING TORQUE 0O.5Nm POLLUTION DEGREE: 3
M4z #HESEHE|  2Nm OX M3gz ##HEHHE0 . HNm FLAMMABILITY: UL94V-0
‘ MATING CYCLES: 500 CYCLES
— Aj f WIRE RANGE: O.5mm2~2.5mm2 (AWG20-AWGI4)
/*{ ‘ A ax* CONTACT TYPE: SCREW CLAMP (M3)
il —
i} o L3 @ ol
ST | I .S
: 30 e | BASK:
N N HDCHE 0o wosmp PC
\/v - © Q" CE grekE: 500V
| Rk | 6A
mwgwE . >=400M()
g 6KV
FERER 3
4X M3 SCREW,RECOMMENDED BmEg: UL94V-0
5 35 - TIGHTENING TORQUE O.5Nm wra%: 500 %
4X M3z #E4%Z440  5Nm #4%EE: 0. 5mm<~2.5mm2 (AWG20-AWGI4)
| BEAR . BuEE (M3)
D ‘ B A a1
A ‘ ‘ ﬂf N
| WIN-V.Y.
<~ ~| w — R
- I o =0 Yo Ve
T | A A
A ! A | ﬂg‘Jé
| ™ ! Nzl "=
[
7
o - 44 —
L 44 _ -
N
PANEL CUT FOR INSERTS FOR USE THIS DRAWING IS A CONTROLLED DOCUMENT. DW%INO VAO 4APR2015 o
WITHOUT HOODS/ HOUSINGS o TIPRI0TS - TE TE Connectivity
M R 4P 5 it S 5 o s T3 DIMENSIONS: TOLERANCES UNLESS CHRIS WANG
OTHERWISE SPECIFIED: | APVD AAPR20 15 | NaME
mm XTANG XU HE-006-M
0 PLC 4 PRODUCT SPEC
@g; e 108-137044
3 PLC =+ - APPLICATION SPEC
iNGPLLECS + - .. 1 147 1 37044 SIZE CAGE CODE | DRAWING NO RESTRICTED TO
WATERTAL FINISH ] WEIGHT - A300779@ET2040062101000 _
- - CUSTOMER DRAWING SR o5 "D

1470-19

(3/713)

Downloaded From | Oneyac.com



https://www.oneyac.com

/ 3 |
THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION 20 RE\/ISIONS
© COPYRIGHT 20 BY - AL RIGHTS RESERVED. P LTR DESCRIPTION DATE DWN APVD
SEE SHEET 1
(e
7N ! 4 5 6 m 7N @
(@) o [ @Bj o
|
SO & 4%$Q;2§x
ASIAA)) &) i | I i ﬁi &
NES &)
| | | i - L, A i i
‘ $ TYPE 3.T2049062101-000 WITHOUT LASER TE
| | HDCHHE 008k LOGO UNDEFINED DIMENSIONS REFER
| TO ITEM 1.
$8 3 T2049062101-000 F#8ETE LOGO, ABR+E£%m | |
|
‘ _
T Fvy
: i 2 3
ﬂg;f = g
T2040062101-000 | HE-006-M | ho7 008 HaLe TNSERT TYPE |
TYPE 2.T2040062101-001 WITHOUT LASER SIDE MARK, = OOGQALE\NSERTW\TWMH —
UNDEFINED DIMENSIONS REFER TO ITEM 1. ) e : , ,
28 2 T2040062101-00| FERENERR AERtEEXE | 12040062101-001 | HE-006-M | ye 006 g racemmms TYPE 2
T2049062101-000 | HE-006-M |fc 00 Mak> WSERT WITHOUT LOGO TYPE 3
PART NUMBER PART DESCRIPTION TYPE
B e # 7 s
THIS DRAWING IS A CONTROLLED DOCUMENT. |OWN 4APR201S
CH%INO LAC AAPR?201T5 - TE TE Connectivity
DIMENSIONS: OTTHOELREWRIASNECESSPEUCNILFEISESD. AP%DHRIS WANGAAPREO"S NAME
mm ' XTANG XU HE-006-M
0 PLC 4 PRODUCT SPEC
NOTE : Lo = 108-137044
ALL SPEC REFER TO TYPE | %E}{:::}igﬁ . FRPLICATION SPEC
4 PLC +- SIZE CAGE CODE | DRAWING NO RESTRICTED TO
e N 114-137044
A , A 3100779/(C=T2040062101000 -
FaraansE TYPE | . . - S -
: . CUSTOMER DRAWING o or D
1470-19 (3/13)

Downloaded From | Oneyac.com



https://www.oneyac.com

B NE AR EN, AT, SRR A ISR E B

Downloaded From | Oneyac.com


https://www.oneyac.com/brand/1062.html
https://www.oneyac.com

	Sheet 1
	Views
	new_view_1
	底部_3
	new_view_4
	new_view_6
	left_7
	top_8


	Sheet 2
	Views
	new_view_15
	new_view_17
	top_18
	bottom_20
	new_view_21
	new_view_22
	right_23
	top_24
	bottom_25
	right_26


	>>TE Connectivity(泰科)

